Baelpl/ NEAEREKRE RS /H39EINVRR—LV KRS

HEF  SF44E11H 23 HH)
2 Yokowo /LT — )& [if]

ot BB R

e Azr—h iE | Ba—hk
BTFEI—7(A) BT F8)—7(B)
1 9:00 1l | s 1 9:00 2 e
HEA vs HIRB B vs #EB
Bt )
TD-F7 4%V TD A7 4%V
BFELTI— BRELTI—
2 9:30 L L T 2 9:30 b rr— e
FlE vs ¥l HE vs EM
Bl )
TD-F7 4%V TD- A7 4%V
BTFEI—7(A) BT FR)—7(B)
3 10:10 4 |—mm e 3 10:10 3 e
#) vs HIFB BIFA vs FEB
Bl )
TD-F7 4%V TD A7 4%V
BFELTI— BRELTI—
4 10:40 d |—--—me T 1 10:40 € e
BB vs ¥l i vs B/
Bl )
TD- A7 43 vL TD-A7 4> v /v
BFFEI—7(A) BTFRI—7 (B)
5 11:20 5 |—ee—m e 5 11:20 6 i
FB/A vs BRI Bl vs BIFA
i ¥
TD- A7 43 vL TD-A7 4> v /v
(REy7 -BEZRBEBER)
FREH] Azr—h REfH] Bzi—Fh
TR BFHEREE
6 13:15 T | T 6 13:15 8 for— e
Al vs B2{T B1fZ vs A2{iL
H W
TD A7 4%/ TD-F 743 %)V
BRERTFI—F BEELTY—F
7 14:05 e |—--—--—--— e — e — e — o — - 7 14:05 f P-—r— e e — -
=i vs S Bl vs ¥
H W
TD- 4743 %/v TD-A7 43 v /L
BF =N ek BTk
8 14:45 9 |—re—m e 8 14:45 10 f-—me—m e o
TR vs SDRE A3AL vs B3fL
H W
TD 4743 %/v TD-A7 43 v /L
B
9 15:35 1 [—mr—mm e S
TOME vs 8DEEE
FH
TD A7 42 /Vv




